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Five bays A, B, C, D and E are sitting in a row. A is to the right of B and E 15
to the left of B but to the right of C. A is to the left of D. Wha is second from

the left end 7 | _ ~
. (p) U

(A)y D (B)y A A -

() B (D) E

Six friends P, Q, R, S, T and U are sitting around the hexagonal table each at

one comer and are facing the centre of the hexagonal. P is second to the left of

U. Q is neighbour of R and S. T is second 1o the left of S. r Py
Which one is sitting opposite to P 7 .

(A) R (B) Q

iy T (D) S

A B. C, D and E are sitting on a bench. A is sitting next to B, C 1s sitting next
to D. D is not sitting with E who is on the |eft end of the bench. C is on the
second position from the right. A is to the right of B and E. A and C are sitting
together. In what position A is sitting ?

(A) BetweenBandD (B) Between Band C

(C)} Between E and D (D) Between Cand E

in a class. there are seven students (including boys and girls) A, B, C,D, E. F
and G. They sit on three benches [, 11 and I, such that atleast two students on
each bench and atleast one girl on each bench, C who is a girl student, does
not sit with A, E and D. F the boy student sits with only B. A sits on the bench
1 with his best friends. G sits on the bench 111 E is the brother of C.

Which of the following is the group of girls ?

(A) BCG _~ (B) BFC
(C) BCD (D) CDF 4
NBD . :



: M A is the hu!tbmiaf?i
*  ASP means A is the daughter nﬂ'
: 'Mnfmmnmﬁg means that K is the mother-in-law of M ?
(A) MON3K4J (B) L@Hﬂxﬂ M2k 'S A
_,(;:} KSI9M3N - (D) K3J9N4M

Q W,E,R Tand Y are members of a family consisting of two children, one
of whom is T is a boy. Q@ and R are brothers and Q is an engineer. E is a doctor
married to one of the brothers. W is married to R, and Y is their only child.
How Tisrelatedto Q ?

(A) Father (B) Brother J

(C) Nephew (D)} Son = = )/T {,.

—
I e

',d.-—-..—

and grandfather of AP is the daughter of H, who is gmudmuther of K. D Da.s I
husband of H and G is husband of L. How is P related to Q ? A _‘HE{

(A) Mother (B) Sister ALY 0
(C) Daughter (D) Cousin RS t

I

i
i

S .=

If“A # B” means A :5 father of B, “A * B” means A is brother of B, “A @ B”
means A is mother of B, then which of the following is correct about G @T#P? T f
I“l ¢ |

(A) G is mother of P. ) (B) P is father of T. - s pdi
(C) TissonofG. (D) P is brother of T. H“-‘*“T A 5-}

Pointing to a photograph, Rajesh said, “He is Aarav and he is the son of thr.
daughter of the father of my brother”, how Rajesh is related to the Aaray,

referred in the photograph 7 _

(A) Nephew (B) Brother

:;;i - Father (D) Maternal Uncle







: to the befo '."'thanathttmdﬁwﬂ,
I (© M rm&om ﬂmylms is highly effective when the population is vu:!y
l m’ In a simple random sampling without replacement, a unit is selected, it
will never be selected again, .

- 15. A frequency curve which starts with a minimum frequency and then gradually
‘reaches its maximum frequency at the other extremity is known as -
(A) Bell shaped curve (B) Mixed curve
(C) U-shaped curve (D) J-shaped curve

16. The law of statistical regularity says that
(A) Sample drawn from the population under discussion possesses the

characteristics of population.
(B) A large sample drawn at random from the population would possess the

characteristics of the population,

(C) A large sample drawn at random from the population would possess the
characteristics of the population on an average.

(D) An optimum level of efficiency can be attained at a minimum cost,

17. A population comprises 5 members. The number of possible samples of size 2,
.can be drawn from it with replacement is
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5. The Arithmetic Mean (A.M.) and mode of the data are 32 and 26, respectively,
|

. .,-."“l .:' :tbcmudm of the data.

(A) 30 (B) 12 L ( o g.ﬁ)
o s @ 29 ! |

~ 26. Find out the mode from the following data :
100, 110, 125, 225,325, 125, 90, 80, 455, 375, 125
(A) 325 (B) 110
© 455 (D) 125

27. Which one of the following is the absolute measure of dispersion for open
ended distributions ?
(A) Range (B) Standard deviation
(C) Mean deviation - (D) Quartile deviation

If the mean of the following frequency distribution is 2.6, then the value of Y

3 4 5
b . 4
B) 6
(D) 12

























(D) 6.09%

61. The compound interest on a certain sum for 2 years at 10% pe
¥ 525, The simple interest on the same sum for double the time at h

T ——

(A) 2400 (B) 500
(C) T600 - (D) T 800

62. Find the future value of an investment of ¥ 7,000 compounded quarterly at
10% per annum for 3 years. [Given that (1.025)2 = 1.34489]

__AR) T9414.20 (B) ¥ 7,435.73
(C) ¥7,941.42 (D) % 8,000.00

63. A sum of T 725 is lent in the beginning of a vear at a certain rate of simple
interest. After 8 months, a sum of ¥ 362.50 more is lent but at the rate twice
the former. At the end of the year, ¥ 33.50 is eamned as interest from both the

loans. What was the original rate of interest ?
(A) 3.6% (B) 4.54%
(C) 3.46% (D) 4.12%

There is 60% increase in amount in 6 years at simple interest, What will be the
compound interest of ¥ 12,000 after three years at the same rate ?

(A) T2,160 (B) 3,120 "
(C) T3972 (D) %6240

NBD




























